
MT-07 Belly Pan – Fitng Instructons
 Fig 1                                                                                                       Fig 2

Fig 
1

Bracket mounted on right hand side of bike. 

Fig 2 Bracket mounted on lef hand side of bike. 

Fig 3 Crankcase bolt showing O-ring correctly positoned.

Fig 4 General layout of brackets on belly pan.

Fig 3 Fig 4

                                 

Kit contains 

2  Brackets                                             

4  M6 x 16 socket screws

4 M6 Plastc washers

4 M6 Flat steel washers 

4 M6 Ny-lock nuts


